
          Show What You Know: 
Looking at the timeline, 1200 was an important year in 

sheep history. What was invented? 
 

A. the flying shuttle 

B. the spinning wheel 

C. the woolen mill 

D. the shearing machine 

 
 

If there are 6 adult sheep in the barn, how many total teeth would you count in 

their upper front jaws? 
 

 A. 72 

 B. 84 

 C. 48 

 D. 0 

 
 

One pound of wool can make ten miles of yarn. How many pounds of wool 

would it take to cover 1,000 miles? 
 

 A. 10,000 lbs. 

 B. 9,000 lbs. 

 C. 100 lbs. 

 D. 100,000 lbs. 

 
 

Sheep were among the first species to be _________________, meaning to live in 

close association with human beings, or to be raised for farm produce. 
 

 A. studied 

 B. domesticated 

 C. overfed 

 D. none of the above 

 
 

A _____________ is a baby sheep. 
 

 A. mutton     C. ram 

 B. lamb     D. shepherd 


